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Questions

Question Image
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Answers Choice

A. acosec(ax+b) +c
B. - acosec(ax+b) +c

.asec(ax+b)+c
.-asec(ax+b)+c

.acot(ax+b)+c
.-acot(ax+b)+c

.atan(ax+b)+c
.-atan(ax+b) +c

.asin(ax+b) +c
.-asin(ax+b)+c

.acos(ax+b)+c
.-acos(ax+b)+c

> wWr WP WP WP

. 5x<sup>4 + c</sup>
. 1/6 x<sup>6</sup>+c
. Bx<sup>2</sup>+ c
. 1/5 x<sup>6</sup>+ c

oo w>

. X<sup>-2</sup>+c
. not possible

. a<sup>x</sup>Ina+c
a<sup>x</sup>+c
X a<sup>x</sup>+c

e<sup>x</sup>+c
e<sup>-x</sup>+c
X e<sup>x</sup>+ c
not possible

cosecx+c
-cosecx+c
-secx+c
secx+c

cosecx+c
-cosec x+c
-secXx+c
secx+cC

cotx+c

tanx+c
-cotx+c
-tanx+c

DP DOm » UO®P» DOWP DO®r 00OP OW

. 1 + tan<sup>2</sup>x + ¢
.tanx+c
C.-tanx+c
D.cotx+c
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Question Image
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O

Cc

B.
C.
D.
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-sinx+c
cos X+ ¢C

.-cos x+c

.COs X+ cC

-sin x+c

.sinx+c

.6x-2+c

. BX - X<sup>2</sup>+ ¢
. Bx<sup>3</sup>- x<sup>2</sup>+

6x+2+c
6x + x<sup>2</sup>+ ¢
Bx<sup>3</sup>+

X<sup>2</sup>+ x



